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-: Calculate the perimeter for each figure -1 

 

    

 

 

 

 

 

 

 

 

 

    

Perimeter = ….+….+….=….. Cm.                            Perimeter = ….+….+… .+….=… .Cm 

 

  

 

 

      

  

    

 

 

 

 

 

5cm 

 

Perimeter = ….+….+….+….. =….Cm.                     Perimeter =….+….+….+….=…...cm  

  

  

  

-:Complete in the same pattern  -2  
  

……………………………………………       a)  

 

………………………………………………… b)  

 

c) X Y Z X ……………………………………………………………………….. 

 

d)                                                 ……………………………………………….. 
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3- Put (       ) under each shape has asymmetric line:-  

 

 

 

 

 

 

 

 

 

 

 

 

4- Write the fraction which represent the shaded part :- 
 

  

 

 

 

 

 

 

 

 

 

 

 

5- Circle according to the given fraction :- 
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6) put the suitable sign ( > , < , = ) :- 

 

         ……                                             ……        

          ……                                            ……         

          ……                                           ……       

  

  

7) Arrange the following fractions ascendingly :- 

 

       ,       ,     ,    ,    ,      
    The order: - ……. , …… , ……. , ……. , ……. , ……. . 

 

 

8) Arrange the following fractions descendingly :- 

 

       ,       ,      ,    ,     ,     
     The order :- ……. , …… , ……. , ……. , ……. , ……. . 

 

 

 

9) If    of the number of pupils in a class of primary school is  9  pupil. 

     How many pupils in the class ? 

The number of pupils = ………………………… = ……. pupil 
    

 

    

      

  

 


